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	2017 January Cisco Official New Released 300-465 Dumps in Lead2pass.com! 100% Free Download! 100% Pass Guaranteed! 

Lead2pass 300-465 braindumps including the exam questions and the answer, completed by our senior IT lecturers and the Cisco

product experts, include the current newest 300-465 exam questions.  Following questions and answers are all new published by

Cisco Official Exam Center: http://www.lead2pass.com/300-465.html  QUESTION 41 A UCS Director administrator must convert a

VM to an image. Which option lists the steps to accomplish this task?A.

     B.

     C.

     D.

      Answer: B QUESTION 42 A cloud administrator is designing security policies (or the control plane of a private Cloud. Which

two statements about control plane Cloud security true? (Choose two.) A.    The dynamic control plane is not required to have

visibility to all traffic between the user and the applications. B.    The dynamic control plane does not require visibly into the data

plane and all components that operate within the data plane. C.    A dynamic control plane must be able to intercept traffic as it

traverses the cloud, interpret the data, and instruct the cloud architecture on how to efficiently connect the user to the appropriate

application instance. D.    Dynamic control plane elements ate a requirement at every layer of the cloud architecture (or cloud

environments to be operationally efficient and on demand. Answer: AD QUESTION 43 An administrator is designing a cloud

environment lo support multi-tenancy. The customs will share infrastructure, applications. Which two design concerns should have

priority? (Choose two) A.    core layer segmentation B.    to ensure that proper upgrade protocols are planned out C.    VM

segmentation and database segmentation D.    to ensure that proper security and isolation protects tenants from the risks they pose to

one another E.    data center infrastructure segmentation Answer: BD QUESTION 44 Which three options does Cisco Intercloud

Fabric provide? (Choose three.) A.    Workload security throughout the resulting hybrid clouds. B.    Ability to build, test, and

validate laaS architecture in a nonproduction environment without affecting other existing deployments. C.    Increase the business

and time-to-service revenue with cloud infrastructures. D.    Usage-based, per customer costing in multitenant cloud environments.

E.    Highly secure, scalable connectivity to extend private clouds to service provider clouds. F.    Consistent operations and

workload portability across clouds. Answer: AEF QUESTION 45 Which protocol is used to extend Layer 2 for long-distance

bridging? A.    OTV B.    VXLAN C.    LISP D.    VPN E.    NvGRE Answer: A QUESTION 46 A cloud administrator is

considering deep packet inspection to secure the cloud infrastructure. Which three statements about DPI are true? (Choose three) A.  

 The use of DPI makes it possible to find, identify, classify, reroute, or block packets with specific data or code payloads. B.    DPI

does not require updates and revisions to remain optimally effective. C.    DPI is an advanced method of packet filtering that

functions at the application layer of the OSI. D.    DPI examines only packet headers. E.    DPI is essential in protecting the cloud

against malicious threats such as web exploits, zeroday attacks, data exfiltration, and malware-based botnets. F.    DPI can increase

compute, speed because it decreases the burden on the processor. Answer: ACE QUESTION 47 Which three cloud providers are

supported by Cisco Intercloud Fabric for Business? (Choose three.) A.    Amazon Hybrid Cloud B.    Microsoft Azure C.    Dell

Cloud Computing D.    Cisco Hybrid Cloud Bundle in partnership with Dimention data E.    HP Cloud F.    Amazon Web Services:
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EC2 Classic and EC2 VPC Answer: BDF QUESTION 48 Which two storage connectivity types are most widely used for VMFS

datastores? (Choose two A.    iSCSI B.    FC/FCoE C.    NFS D.    CIFS E.    SCSI Answer: AB QUESTION 49 Which three

components are involved the design of Cisco Secure cloud extension? (Choose three.) A.    Intercloud Fabric Extender B.    Amazon

Hybrid Cloud C.    third party firewall to secure the connection D.    Amazon Web Services E.    TLS tunnel, to extend the VLAN F. 

  Intercloud Fabric Switch Answer: ACF QUESTION 50 An administrator is configuring policies during the initial configuration of

Cisco UCS Director. Which policy is set up first? A.    network B.    computing C.    system D.    storage Answer: B  If you use

Lead2pass braindump as your 300-465 exam prepare material, we guarantee your success in the first attempt. Lead2pass 300-465

dump provides you everything you will need to take your 300-465 Exam.  300-465 new questions on Google Drive: 

https://drive.google.com/open?id=0B3Syig5i8gpDREN0djlNRS15X1E  2017 Cisco 300-465 exam dumps (All 70 Q&As) from

Lead2pass:  http://www.lead2pass.com/300-465.html [100% Exam Pass Guaranteed]
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